Calculus Surds Practice #2

Simplify fully:
1. V15 x 2v12
2. 38 + 4098
3 V72

' V8
4 V20

) \75
5 v18x%

" /5045

Expand and simplify fully:

6. V32(2+3V8)

7. (@A -=+2)(2++8)

8. (V5 +V3)(V5 +V12)

9. (X+V28)(X—-+7)

10. (X —+v2)(X—+8)

Rationalise the denominator, then simplify fully:

11. 3?
12. — =
13. - ‘_/?\/2_
14. ﬁz_ =
15. 57:’\/%

Prove that:

xX+Vx _
16. 1++vx Vx




Answers: Calculus Surds Practice #2

Simplify fully:
1. V15 x 2V12 = 2180 = 2V4V9V5 = 12V5
2. 3V8 + 498 = 3V4V2 + 4V49V2 =6V2 + 28V2 =342
s V2 _ Y36z _evz 4
) V8 A T 2v2 B
. VT _ Vs _ 2 _ 2
" W75 - V1545 "~ V1545 V15
g Yiext _ o vz /xt _ 9 _ 3
"~ V5045 V25 V2 Vxt Vx V25 Vx 5Vx.
Expand and simplify fully:
6. V32(2+3V8) = 2432 + 3256 =8V2 + 48
7. (1-v2)2++8) =2++8 —2v2 —16 =2
8. (V5 +3)(V5 ++12) =5+ 2V/15 + 15 + 6 =11 + 3V15
9. (X+V28)(X—+7) = X2 -7 X+ 27 X—+/196 =X +7 X - 14
10. (X—+v2)(X—+8) =X2—V2 X=2V2 X ++16 =X2—-3V2 X+ 4
Rationalise the denominator, then simplify fully:

3v10 _ 341045 342425 _

o E ~ V5V5 - s =3vz
12 1 _ 3-4/5 _ 3-4/5 _3-+5
" 3+4/5 T B+V5)(3-v5) T 9-3y5 +3V/5-5 T4
13 V2 V2 (8+4+V2) _ 8V2+2 _2+48V2
T o8—+2 T (8=+2)(8+2) T 64-2 T 62
2 _ 2 (/5 ++/3) _ 25 ++3) _
SMNEEE (5 -V3)(E +43) - 5-3 =VS 43
15 7++3 _ (7+V3)(5++V12) 35+ 7v12 + 5V3 ++/36 41+ 193
T o5—412 T (5=V12)(5+V12) - 25— 12 - 13

Proof:
16 x++x _ (x+Vx )@ —-Vx) _x—xVx +Vx —x
To1+x T A+Vx ) -Vx) - 1-x
_Eowl _Ea-» v

1—-x 1-x



